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/B =180° - 110° = 70°




Zho} XA Q.
H7
A, A,
A7y, A8y, 424

W) 271) + (212ke) 37) = 180°

) -7

& 2] 271 —=x180° = 60°, £]2He] 571

_ L 4-2 -

& tiztel 371e — = x180=90°, 229 A71&
5-2

S Yyzte] a71= % x 180° = 108° , 2|Z}9]
& izte] 271E — = x 180° = 120°, 9|7}

st Wzt 37)= % x 180° = 135° , €]Zt<]
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6. oS ™A sx 9 FH2?

@ 25° @ 30° @35°
@ 40° ® 45°

A2 o] izte] 2719 92 180° o2&
Lx+3/x+2/x-30°=180°
S /x=35°




O 240°

@ 280°

3@ 320°

@360 °

® 380°




o ™A 2x o] 27127

30°

55 50°

@® 115° @ 125° @135° @ 145° ® 155°

~&B

A B&DE AZsHH
(ADE = /A + /ABD /CDE = /C + /CBD.. /x = tADE +

LCDE
w2tA ZA + /B + 2C = 30° + 55° + 50° = 135° ©|t},
A




9. o I"HAA 9 717

O 70° @ 72° @73° @ 74° ® 75°

ABRCE 2 A4 9219 ABCEF 9] 2] 92 180°x (5
2) = 540°

540° = 105° + 120° + 36° + /DCE + /DEC + 62° + 110°
/DCE + /DEC = 107°

ADCE of| A

/x = 180° — 107° = 73° o]t}

| 730




10. /A =180°, (B=110° € W}, .C + /D + /E + (F 2] 27|12

@® 150° @)170° ® 210° @ 270° ® 350°

(EGF = /AGC = /D + (E + (F °]1!

LA+ /B+ /C+ (AGC = 360° o]B2

80° + 110° + £C + /D + (E + /F = 360° ©]t}.
. /C+ /D + (E + (F = 170° ©]t}.




